H & 0l & AHS B Ml A

A OlAD
M M0 ME2Z
ol 2EH Ho 2Y (SH9 H2)
H - B8 S9l(3) - NRAY - BES ol ke G o HlmS2
Oil &b F 22,536,336 28,555,902 6,019,566
SEXNQ HE2I 739,458 797,237 AB7,779
SEHOI & 24 309,458 417,237 A107,779
ooty 2 HE22HE 2 252,677 350,763 A98,086
201 L2 | 69,032 105,380 A36,348
01 At 22|l 69,032 105,380 A36,348
OWlMER =& Il ARE8E 7Y
100,000& 22| 200
O2006H S Ofl AFA(2F) HIZ
180,000& *60% 10,800
Q026 20&A HJIE
180,000 x60% 10,800
O2025E & F=Z0lAHRH) M
80,000 x60 2 *23] 9,600
020253 & F=A0 &M HIZ
80,000 *60 2 +23] 9,600
Q20258 LXK GIabA HJIE
30,0003 60 1,800
O2025E s StHEM ME
40,0003 *60% 2,400
OSIXNLEHEAH=M HZ
40,0003 605 2,400
Q2026 KILXXIEH OatHED|E L Jls
2838 +UINE ML HA
40,0002 * 100 4,000
OUAMARWSE WM ME S
10,0002 x80% 800
OXZMEAH= A0S 2R SHaE
100,000 x6H 23 1,200
O29utMAos Ad &
100,000 x6H*33] 1,800
OXYEEIMOI RS Y BASc
100,000& *8H *53| 4,000
OsSEMEEIDI|IZ 28 AAJS A
=g 100,000 x5 H*23 1,000
OTHESAIMCRIAS 23 S
100,000 x5 23] 1,000
OENE) |2 2HA9| 98 BASY
100,000& *6H *32| 1,800
OHAYDER SAl|
9,000 x6G 0 12 5,832
202 04d| 4,800 6,960 22,160
01 =WHO4 LI 4,800 6,960 A2,160
Oule AR =& =UHEE 0]
60,0002 x5F 63| 1,800
OXNYLRA, NLH S 245 &= ER
60,0003 *5H 2L +53] 3,000
203 PRF=&IY| 12,000 12,000 0




A A
M M0 ME2Z
ol 2EH Ho 2Y (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
03 Al ZERIAREAY| 12,000 12,000 0
ONAEA 2 HERRIHE 29 225
12,000,000& 14! 12,000
303 Zal=a 6,600 8,200 A1,600
01 Z&a3 6,600 8,200 21,600
OulatEZ 810t Z&3
600,000 671 = M 3,600
ONSUE MATS S2RA AN
150,000 *200H = A 3,000
308 AHXIHMSOI & 115,584 127,116 A11,532
13 SII2SUICHEHE A XL E ALY 115,584 127,116 A11,532
OXHMICH RIgTHEZ2IAIAE 0152 =X
S Y 23 115,584,000& * 13| 115,584
403 XXM S K201 & 44,661 91,107 A46,446
02 ST 2 SOHE =2 RIEFAIS I 44,661 91,107 A46,446
OSEXNUME Moi=72AIAE 25
44.,661,000&*12] 44,661
FEEN MMHE 29 21,000 21,000 0
201 L2 | 21,000 21,000
01 Ar2eltl 21,000 21,000
OFDIFOBIL ARIDIRS AR BT
100,000 90 23| 18,000
O=EWHAE W WS
3,000,000 14 3,000
=&H| 2 F& 35,781 45,474 A9,693
201 B2 AL| 11,581 17,954 6,373
01 ArR222ltl 11,581 17,954 6,373
O=10 Y SotALY MIHIE
30,3202 +25 524531 4,915
OSETAARIRS] 9@ &A 2ot
130,000 118 33| 4,290
0202 Y2EF A
9,000& x2H« 11U+ 12& 2,376
202 Odt| 7,200 8,520 21,320
01 =WHOdbI 7,200 8,520 21,320
O=GH| &2 L HOAIY =/
60,0002 x2Z 53| 12& 7,200
203 PR =&IH| 11,000 11,000
03 A FAIH R FAIH| 11,000 11,000
O218E L 22 A2ET
11,000,000 14 11,000
303 Zat= 6,000 8,000 A2,000
01 Z&32 6,000 8,000 22,000
O=21 2 ZZA KT ZA(2A, JHel)
6,000,000& x13l 6,000




SA: O
33 80 HE=2Y
CiSl OIARE #E 2o (choy: @2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Hlass 48 24 430,000 380,000 50,000
JAE8S 22 8| 430,000 380,000 50,000
201 er23| 100,000 100,000 0
01 At2teltl 50,000 50,000 0
OJ|28S2g At=2cll]
50,000,000 x 14 50,000
02 S3=4gHl 50,000 50,000 0
(OPJEC = 1==toge: R k= feagelall
50,000,000& » 14! 50,000
202 04l 30,000 30,000
01 2LHoIH 30,000 30,000
OJ2E5s2d =UWEH 0l
30,000,000& » 14 30,000
207 ARl 200,000 200,000
01 = 200,000 200,000
OFQBCAY & 2IIS2UE HISHH
200, OOO OOO x14] 200,000
401 A2 HIRL R 0HbI 100,000 50,000 50,000
01 Al&HI 100,000 50,000 50,000
OJla382g AEHIOI=2AHE 8)
100,000,000 *14] 100,000
ANZBEDI= =3 433,711 387,907 45,804
o3 e ¥l =4 231,229 193,910 37,319
g g% &y F& 50,613 34,300 16,313
201 et 3| 31,413 15,340 16,073
01 At22t2l] 31,413 15,340 16,073
OAl 23] AR M=
75,0003 75 +33] 16,875
ORYHSBAYIS AR BHLY
100,000& x2& »23] 400
02z 2 XI¥ sS4l
9,000 <3 2«12 648
OHTAISZ AL ZXLMIZ
107,920 » 1255 13,490
202 04l 1,200 960 240
01 =LHA LI 1,200 960 240
0203 R =& gl Ast K|
60,0003 x2& +53] 600
Oz 22 DS B4 o]
60,0002 x2& +53] 600
203 gF=4| 5,000 5,000
03 A=A 2= 5,000 5,000
OF2 HOAY 8O U AFES N 2L
= 5,000,000 *14] 5,000
04 HSRESS 13,000 13,000 0




o5 Be w3 EER-E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
03 2|2 &2 13,000 13,000 0
XD ol MG X1
1,000,002/ %1245 5,000
ONS= ol M| BAD
1,000,000 %124 +32 3,000
ONDZ 0l AIY 283
1,000,000& 12«53 5,000
gHH 2 SRdd 180,616 159,610 21,006
201 Ler2d 127,176 134,410 AT,234
01 AtR 2 123,348 130,110 N6, 762
OLZBHSA =<
300,000 x5 *12& 18,000
OAsS (HSAH HUZ)
3,680,000 *2524 92,000
Oas s4 Aldls 2,200,000& x5A 11,000
O=FARMNHARS A2 F+L
100,000 6 & +22 1,200
O"H & a5 g2 =8 S4H|
9,000& 3 *2L* 123 648
OYSAHRLIE 2 500,000& %12 500
02 3224l 3,828 4,300 N2
Oas=di HE SsE=
80,000& =104 800
OAS==&0ll QIXICH
757,000& x4 3,028
202 044l 1,200 2,400 1,200
01 =LA LI 1,200 2,400 A1,200
Oas=d & I E O]
60,0003 «2& *52] 600
O7t NS , Pa=Abel gluAs!
60,0003 »2& +52 600
308 L&z 2,240 2,800 A560
01 Zats 2,240 2,800 A560
OFHINE 24 S2& 2dEE= 1,000
—%|R= 200,000 *1 200
- 100,000 8% 800
Oirs=d R85 SF2 H 1,240
—3RF 100,000 10 1,000
— R 80,000& *3H 240
305 &= S 50,000 20,000 30,000
01 ie=s 50,000 20,000 30,000
O4% &HHHAE S
2,000,000& 252 50,000
USAED |2 M 43t 202,482 193,997 8,485
ODEALEDI2H =& 202,482 193,997 8,485




SA I
Zu: AZSEIIY X
St DSAEDIIRH 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 24,592 23,45 1,136
EEEI 24,502 23,456 1,13
OEdZ &&HIE 4,0002+5,0002] 20,000
OLABHTARS B4 25
100,000 5 & »23] 1,000
ODSMIIZMALIHE BH 42
100,000& x5 & =22 1,000
ODFAZIIR 22 £7 JA|
9,000 2Fx12&x 123 2,592
202 Oft] 1,440 2,160 AT
01 2L AL 1,440 2,160 AT20
ODFAMIIR Y2 EF 0t
60,0002 x2EH*x2 2 +63] 1,440
203 SR =L 3,000 3,000
03 A=A 2= 3,000 3,000
ODFANIITH PRFT
3,000,0008!+14] 3,000
301 LENZ 150,000 150,000
14 DBt 2 a=S 150,000 150,000
OZRB(RNASHE) X3
30,0002 *5,0007H 150,000
308 AtXIEMSOIE 23,450 15,381 8,069
13 SI[2S0He & EAS A 23,450 15,381 8,069
ODEFMIIS BHTRAAY T2l &
29 23,450,000 *13] 23,450
oilglgl el 21,252,460 27,234,952 A\b,982,492
oiglgl 2tel 21,252,460 27,234,952 A5,982,492
oilglgl 2el 21,252,460 27,234,952 N5,982,492
801 GiIHIBI 21,252,460 27,234,952 A\5,982,492
01 Btoiiblgl 5,000,000 5,000,000 0
OEroi | 5,000,000, 0002144 5,000,000
02 THoHl - XH=ZH0llHIH 10,112,815 12,658,099 N2,545,284
OTHOHTHEHS = 04l ]
10,112,815,000& 14] 10,112,815
B UHFRES 6,139,645 9,576,853 A3,437,208
ousRE3 6,139,645,0002 *14! 6,139,645
SR AH| (04t 110,707 135,806 A25,099
el E3H 55,926 65,198 N9,272
el 24| 55,926 65,198 N9,272
101 @124H| 55,926 65,198 N9,272
01 24 55,926 65,198 £9,272
ONEIEE RS
11,9502 x 132 +30AI 2+ 123 55,926
ST 54,781 70,608 716,827




2A:

)y
A HZY2AZHI(0AH)
=9l Jl=3l EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Jl=3H] 54,781 70,608 15,827
201 er23 | 28,261 38,448 A10,187
01 At2teltl 26,581 36,720 210,139
OARd 28 225 7Y
232,580 x 122 2,791
o2 HRES 7¥ 250,000 * 128 3,000
O=Zgyd 2238 7¢
250,000 *3CH*52] 3,750
OsH=EAD| dRE(EH, &8 28 X8)
300, 0002 «2CH* 12& 7,200
OzetsADl X2 (EH, =8 28 Z8)
300,000& * 128 3,600
OYRF& SAEXN 7Y
26,4003 2002 A 5,280
O&8=J| etz 30,000& ~12& 360
Otz #s= 15,0003 %105+42 71 600
02 S3=gHl 1,680 1,728 YaV:3]
o8 828 S 4002 +4,2005 1,680
202 04| 23,520 28,560 25,040
01 =LHO LI 23,520 28,560 25,040
OJI22UEE NI
140,000 x14E 12 23,520
203 HRP=H] 3,000 3,600 2600
M A2 LRFAI 3,000 3,600 2600
ORANEgg =AY
250,000 x 122 3,000




